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How is the conflict resolved?
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(3) Taroo-wa daitooryoo-o orokanimo [t,. tensai da to]
Taro-ToP president-AcC stupidly genius CoP C

omotteiru.
think

‘Taro stupidly considers the president to be genius.

2. Anti Reconstruction - No De dicto reading in (3) for president.



Instace of the Conflict: Negative Concord shika

3. Embedded NEG does not license raised shika

(4) *Taroo-wa Hanako-shika orokanimo [t tensai de-nai to]
Taro-ToP Hanako-SHIKA stupidly genius COP-NEG C
omotteiru.
think

Int. ‘Taro stupidly considers that only Hanako is not a genius.
(Tanaka, 2002, p.644, modified)



Instace of the Conflict: Negative Concord shika

3. Embedded NEG does not license raised shika

(4) *Taroo-wa Hanako-shika orokanimo [t tensai de-nai to]
Taro-ToP Hanako-SHIKA stupidly genius COP-NEG C
omotteiru.
think

Int. ‘Taro stupidly considers that only Hanako is not a genius.
(Tanaka, 2002, p.644, modified)

Anti-Reconstruction: shika is not local to NEG at LF.
= shika must be local to NEG at LF.




Instace of the Conflict: Negative Concord shika

3. Embedded NEG does not license raised shika

(4) *Taroo-wa Hanako-shika orokanimo [t tensai de-nai to]
Taro-ToP Hanako-sHIKA stupidly genius COP-NEG C
omotteiru.
think

Int. ‘Taro stupidly considers that only Hanako is not a genius.
(Tanaka, 2002, p.644, modified)

Anti-Reconstruction: shika is not local to NEG at LF.
= shika must be local to NEG at LF.

RtO preserves an idiomatic meaning;
Reconstructable movement does not impede shika-licensing;
Ask me in Q&A for further justification.
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shika must be local to NEG at LF.
= If shika moves out, it must be reconstructed.

(5) [op, Hanako-ga Taroo;-ni kaita tegami ]-
Hanako-NOM Taro-DAT wrote letter -SHIKA
kare;-wa [Mary-ga t; yoma--atta to] omotteiru.
he-ToPp  Mary-NOM  read-NEG-PAST C think

Lit: ‘Only the letter Hanako wrote to Taro, he thinks Mary
read.

A Conflict: shika licensing v.s. Conditoin C violation.
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shika must be local to NEG at LF.
= If shika moves out, it must be reconstructed.

(5) /\

NEG tj

A Conflict: shika licensing v.s. Conditoin C violation.
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read letter-shika  [. ]

The Parallel Merge (citko, 2005) of letter-shika and RC

The R-expression is not bound by the pronoun

= No Condition C violation by Reconstruction!

Merger of TP and DP; is semantically ignored. (Johnson, 2018)
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Parallel Merge v.s. Late Merge

Parallel Merge lets the R-expression be unbound.

Late Merge (Lebeaux, 1991) has the same effect.
(7) letter-shika [gc ... Taro ... ] He thinks Mary read letter-shika

RC merges late, and the R-expression is not bound.
But recall that shika must be reconstructed.
(8) letter-shika [jc ... Taro ... ] He thinks Mary read letter-shika

A Semantic anomaly — RC has nothing to modify.
A Condition C violation again if RC is reconstructed together.
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Parallel Merge v.s. Semantic Reconstruction

Lechner (1999): Semantic Reconstruction for scope reconstruction.
(9) [Qgj[rc ... R-expr;..1] pron; .. Qy ... t;

The Qy > Q3 reading is available.
A\ Condition C violation by Syntactic Reconstruction
Semantic Reconstruction (Cresti, 1995) a.0o. as a rescue.
(10) [Qs[rc .. R-expr; ... 11 prom; ... Qy ... Ter
The scope is reconstructed while Q5 stays high.
Semantic Reconstruction for our conflict?
(11) letter-shika [gc ... Taro ... ] He thinks Mary NEG read Tert

A\ shika is not local to NEG at LF.



Parallel Merge v.s. Semantic Reconstruction

Parallel Merge can be extended to Lechner’s (1999) case.

(12) /
TP
T
He;
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Parallel Merge v.s. Semantic Reconstruction

Lechner’s (1999) case in German is replicated in Japanese.

(13) [Dpj Taroo;-ga kaita ronbun-no doreka ]-o
Taro-NOM wrote paper-GEN some  -AcC
kare;-wa [dono-gakusei-mo tpp, yonda to] omotteiru.
he-top  which-student-all read C think

Lit’Some paper Taro wrote, he thinks every student read.
(V>3,3>V)



Summing up the discussion...

Parallel Merge, Late Merge, and Semantic Reconstruction all let the
R-expression in RC be unbound.

But only Parallel Merge explains the entire data.
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Parallel Merge and Fox's (1999) observation

The seem>3 reading is absent in (14a) due to Condition C.

(14) a. Astudent of David’'s seems to him to be at the party.
(3 > seem ; *seem > 3)

b. Astudent of his seems to David to be at the party.
(3> seem ; seem > 3)

Parallel Merge of the prepositional phrase should avoid a Condition
Cviolation.

Why is (14a) ill-formed? Why is the conflict case well-formed?

Any theory that has Parallel Merge must also have a constraint on it.
Parallel Merge is allowed in the conflict case, but not in (14a).
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Constraint(s) on Parallel Merge

It is not variation across languages.
Citko (2005) motivates Parallel Merge for English ATB-movement.
Even in Japanese, cleft movement does not circumvent a condition

Cviolation.
(15) [Kare;-ga [Hanako-ga mita to] omotteiru no  wa ]
He-NOoM  Hanako-Nom saw ¢ think NMNL TOP

Taro:;-ga totta syasin-o  da.
Taroo-NOM took picture-Acc cop

‘It is a photo that Taro took that He thinks Hanako saw.

A derivation with Parallel Merge is banned in (15).

The variation is across configurations.
Which configuration allows a derivation with Parallel Merge?




Conclusion

> Parallel Merge resolves the reconstruction conflict.

> Parallel Merge makes different predictions than Late Merge or
Semantic Reconstruction do, and only Parallel Merge makes a
correct prediction.

> But the operation must be properly constrained. Formalizing
constraints is left for future work.

Thank You!
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